
Tension
Compression

f= P/A±(Mx/Ix)y±(My/Iy)x
P= 800 kN
A= 0.72 m2

Mx= 480 kN‐m
Ix= 0.0864 m4

My= 240 kN‐m
Iy= 0.0216 m4

f+x+y= 7778 kPa Compression

x= 0.3 m
y= 0.6 m

f‐x+y= 1111 kPa
x= ‐0.3 m
y= 0.6 m

f‐x‐y= ‐5556 kPa
x= ‐0.3 m
y= ‐0.6 m

f+x‐y= 1111 kPa
x= 0.3 m
y= ‐0.6 m

Figure 4. Isometric view of stresses

Figure 5. Plan view of stresses Figure 6. Plan view of stresses not shaded
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Line perpendicular to the resultant M 
(NA?)

Line at which Tension transitions into 
compression (NA?)


